476000
= .

P

P2 _ “r

04 |

I|||

L T

476500 |

473000

b 59'!535590Ezl 28

¥ T
B i
§ 3 -
| “*
§ ' r
F) . r o =Y
: "
3 1.__ ™ T
g S II
.
i

J

:.' | A

s

[ ]
1
B
"l._? L

A,

LA

/ Z -y

anoHHaA KoTeNbHas
& " N ] i
- f I '

.S




3 4?55&&1-%‘:/ 4?9&&&2 -

£ a79500

g

™ 4s0000 =80 f’
.-r‘_,.-. --l.-_
-l-. = _
' : I|.-
7

¥ mus.uu?"r ")

Tl
















1 HgMione OAQ 'LaxTa
N A

N

e
=
N

AN
N\

.‘\l\'\u\w

=

i
i
e
,

{a{

-‘._\II

3EeHKOB(

|
|
s J
S L1}
il I

e
'\-\_'g.lt
SrLeKTp[tiedKag'

b ]




HCNOPTHBW L&

1Y 5"

."'-
LLaxTa «3er_1_mscxa

YronbHbIA cknag

! 5965000 ;

N =

| | ===
+ 5963500 -

L=









ﬁrf?f#ﬂﬁ#%:ﬂf
%..?ffﬂ.....ﬁ N
S T W

u!r,_t.f.-_r_f fﬁfffd%ﬂfffﬂfff’;fffﬁ ./rfﬁ..rf_
AU

©

>~ H+

12 .,m// i
o ...//f;?ﬁﬁrff% /I/ ...%f " » h

| ™




—
i
| e =
+

119}_1[9' OAO "lllaxta 3eHKoBcK

o

- ."a__.._ .

1 ; R S

ms
" T * 285 ""..{'-,
2914 = i\
) :
s T

]
-
—=

41KoBckasg"»

" Mokuna

b

Deg 3/ .
s
{ H 2962500 ¢
‘:IH, THs KDBOEM Y
: -::!.
-

|
4




~ [3epXnMHOBCKUI










L
||.| ‘
I'-\,“I
LT
.”|n;_‘,
¥ i
_.r"--_-

"y

R |I|I 2]
.,h!ll-q

© iy

li;:

&
-
1
R = k5
a W
.
§i - N
5, *
'
i
f
L

: %asnup

I-"'"
B

i




